OSmK--- S HEHERSHS g
1T, BAREESHRRE

BAEHARRARNHE

CHIHL (514 L2549

1. BR 54+6=9 H1E( ), Hhs4 2 L
6 7&( VAL, TR B A3 R ( )o
2. 6+6+6+6=( () 3464+9=3x( )

3. tb48 /b 19 MER( ), 48H(C )P 19,
4. fEFES HIH EEE KR B4
—IKIRTEL2(  )e DA HEKRLE 140( ).
5. =& 26 6, KETF LR S i ART, DA )ik,
6. —MEMHEC R, ITEMEC K.
7. AR, I
(19, 18, 27, () ( )o 45 () 25 ( ) 5
8. EQ@E esre<rge=",
8 G Qﬁ:zﬁa 35 JEK 65 @ﬂé@lﬂé 45+9Qs4+9
9. F5 B KAIA/L?
( )x8<65  47>Tx( ) 5x( )<28
10. —HRMIZA 100 K, 5B—xBTE 25K, S RET% 30 K, XAR
2R T (Ko

T W, CRHIOTERE S BN, BRI (R 14y, 355 )

1. 843 IFIS 34 8 (AT —FE K. C )
2. 12 ABLEH R 4PN, BPAN—ERDFIZA. ()
3. —HJumE+JL, B e st L. C )

~._ s ' 5, 6, EE, ERFATD
BT SR, AENEESRAE




OSmK--- S HEHERSHS g
BT, BTHEESRAR

4. 34 4 MINE BERIEHE A 3x4, C )
5. 3+3+3+6=3x6. ()
=, k. (BIEME RN SIEAR S B)(EE 2 70, 3510 9))
1. 7x6=42 F/R( ).

@© 756 M @ 74 6 HMEIF & 7+7+7+7+7+7+7
2. BRECRIEHERR S, BRREUR( ).

@ 1 @ 5 ® 25
3. F 20 HubE, BRI =AVMKEEE4r, A B
@® 6 @ 5 ® 2

@ 5 @ 8 ® 3
5. C—RA T, HXRIEHAREE 8 HK, KRBT )
JEK .

@ 16 @ 24 ® 32
U, AR, (3t 18 4)
1. BRSO . (&1 5, 109
4x8= 9xQ = 1x7= 35+5= 28+7=

5—5= 30=5= 26+37= 77T—25= 6x6=

1 »,-.i
BES s, T, ER, SRR

R -
SR IO, ETNEESREAE



OSmK--- S HEHERSHS g
T, DAREESHERR

2. HBAGHE. (B2 75, 384

46+25+29= 100—44+25= 90—35—25= 58+38—19=

iy FEORES. (B3 r, 39 9))

1. H—% 5 FERKIZ.

2. OMMNEURAR 3 15, WHICOMEAE T HHIRZ L.
ANN

3. MR FHEIMIRE O, IR ER S A,

Ak =Pi+—

IES A ( X )
Feih 5 ( X )
BRIRE G ( X )

AN~ GEREENE, fRYLRE. (176 5y, 287 7p, HARE10 7,

3£ 33 4%

Th-amo]
SRS hE, b, ER, SR

SEalel ST, HEEEESHESE



QSR SENFEHERSES  hit
ST, AEREESRERR

2. 30 fiIR%E, 4 FHEEALE RIE?

P

R EATER
3 I]B/\Z%o
3670 470 207C

(DEEBRI AR E T L% ?

(2% 6 MM —EI, FHEZIU?




OS8R ERNFEERSES
ST, AAREESHEAR

4. —ARMEH 60 7L,

()NEERE 8 T, 3 REZ/DI?

QR Mtk 6 REE, THRREZDI?




OSmK--- S HEHERSHS g
1T, BAREESHRRE

BE

—. 1546 5T 9 #ikx B AR

2.4 6 6

3. 29 67

4. K JEK

5.6 6.7 63

7. ()36 45 (2)35 15

8. > = <

9. 8 6 5

10. 55 LRk IR B RIXRMERHT T 20K, SHBE T . “100
—25 =307 RN MZIER T 2 /DK, RXWM LA | 2K
ik —ILEE K,

“o 1N 24 3.x 4N 5.x

=. 1@ 20 3.2 40 50

U, 132 18 7 7 4 0 6 63 52 36

2. 46 +25+29=100 100 —44 +25 =81

4 6 1 00
+ 2,5 = 4 4
7 1 56
Lzli #}i
1 00 8 1

90 -35-25=30 58 +38-19=77

9 0 5 8
- 35 +3, 8
55 9 6
-25 -1 9
30 7 7

4 1 — -
oy 0%, Fih, B, BRI

ShaRe ST, EONEESMEAR



OSmK--- S HEHERSHS g
1T, BAREESHRRE

F. 1. 5 JEHK |

2. OO0000000
3. 4+4+4=12 3+3+3+3=12
3x4=12 4x3=12
12+3=4 12+4=3
75, 1L6x2=12(1R)
% —ILTHRE 12 W
2. 4x7=28(fr) 28<30
% AWEAT,
3. (1)36+4=9
% BEIRIM RS ERE TR 9 5.
(2)4x6=24(JC)
24+20=44(7T)
e B 44 TG,
4. (1)3x8=24(1)
& 3 KRE 24 7L,
(2)60—24=36(11)
36+6="6(11)
% FIRRE 6 T,
[A9R]) RERMRTHRAZDT, HHR TR, K-
P RE W T

A E]
SRS hE, b, ER, SR

"

SIS (T, AEEESEAE





